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Language Focus 1

Key Words
factor whole number multiply product divide
prime number composite number hundred chart
* Factors: numbers we can multiply to Factor Factor product
t anoth b e
get another number Dwd4=8
» A prime number is a whole number greater blue - prime numbers
than 1 with exactly two factors, itself and 1 red - factors
2=1x2
Example: 2,3, 5,7,11,13,17,... 3-1x3
5=1x5
7=1x7
11=1x 11
13=1x13
* A composite number is a whole 16 is a composite number.
number with more than two factors The factors of 16 are 1, 16, 2, 8, 4
16=1x16
Example: 4, 6, 8, 9, 10, 12, 14,... 16=2x8
16=4x4
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Language Focus 2
Key Words

perimeter area rectangle square length
width unit  side square unit

Perimeter: the outside of a shape (found by adding together the
length of all shapes sides).
* Perimeter of a rectangle = 2 (length + width)

=2 (a + b) (unit)

* Perimeter of Square =4 x length
=4 xa (unit)

Area: the number of square units inside a shape.
* Area of a rectangle = length x width

= a x b (square unit)

* Area of Square = length x length

=a x a (square unit)
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Language Focus 3

Key Words

random experiment coin dice outcomes
possible spinner

random experiment: an experiment for which we know the set of all
different outcomes.
For example:
* Tossing a coin
When a coin is tossed, there are two
possible outcomes: head or tail.

* Throwing the dice
When a single dice is thrown, there are six )
possible outcomes: 1, 2, 3, 4, 5,and 6 A

t_..'. Q" i

When this spinner is spun, there are six possible outcomes: red,

e Spinning a spinner:

blue, yellow ,purple, green, and orange.
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Kilometer km oS JiaslS
Meter m e e
Centimeter cm s il
Millimeter mm ot el
Kilogram kg &S ale S
Gram g ¢ abe
Liter 14 A B
Mililiter m/ Jo Sl
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